V=1:40

H=1:100

ELIERL=6. 0m

BHEAERAE (HER)

4.

0 |

2.0

B600 x H1200 FGOO x H1

300

\
\
=
700
DL=118. 000
i=4.17% §
: :
H B =5 s s
R g
& & = =
B o BE B S e
B OB S e
A E T B - —




0.100
0. 150 0. 040

1. 400

bef7 X

S=1:25

BHRAEAIE (ElrA) B600 xH1200

3. 350
1.176 0. 860 1.245
1.104
JL—F245
As
\ W=30 |
\ RC-40
///_\\ 8
(qp]
AN—FraA)—F 7 N “ §
%ﬁ%ﬁ:‘zbb\—h \ .
SN
= 3
) =
EEERAR
0. 600
0. 960
1. 060 0. 300
1. 660

MER (4m% Y )
£ b iR ¥ 1=K [v) # =
K1 MR R m3 14.9
#H R INFR B m3 8.2

RC-40
=R t=15cm m2 8.83

M-30
=k t=10cm m?2 9. 41
® B t=4cm m?2 9.96
Bl 4af@E | B600xH1200
(KW ) L=2000 & 2.0
A4 2n— bk 18N-8-40
avol)—+F (/E) m3 0.343
g 18N-8-40
avsosy—+k (/N BY) m3 0.576

RC-40

EBRERR t=15cm m?2 4.240
(L EE

i B V51— k)| m2 1.200
600x 1000

gL—F 24 1-25 #® 2.0




bef7 X

S=1:25

BHRAEAIE (EkrA) B600 xH1300

0.10

0.15 0.04

50

1.

3.45
1.28 0. 86 1.29
1.15
JgL—F29
As —~
=30 | |
RC-40
ME XK (2m Y )
(@] s L =
—— 2 % 5 B0k |BEH| & B2
Aor—kavoy—k 7N S - R
=/ =~ [ ) X _ B iE MR | m3 8.4
%ﬁ%:‘z’]')—\x \ ™ R IR m3 4.6
RN X RC-40
= . T = iR #E t=15cm m2 4.60
= o N-30
™~ # — IN-Fy t=10cm m2 5.12
IS O
=1 o =
) . = ® t=4em 2 5.16
e B fEfE | B600xH1300
(2_.05 (W) L=2000 & 1.0
Ty _— .05 4 YR—k 18N-8-40
Rt a 2y —k (/NEY) m3 172
Hp 18N-8-40
avHy—k (NE) m3 . 288
0. 60 RC-40
ERERAR t=15cm m2 . 120
(g L&
0.96 B 2250 — 1) m2 . 600
600 x 1000
1.06 0.30 GL—F Y T-25 o 1.0
1.66




